PEAMHMFTHEEIABRILERHBEAERAIMLESLE)

X BEEX
PERBI084FE B MERLT
Eb 38
LEE HE 2 AFEREREL | AFBERE
REH #(1) #(2) 2% %
3)=(1)-(2) (H=(3)/(2)*100
i+
EX T PN
4,201,700 o1 LN 690,300 1,850,000 | (1,159,700) (62.69)
0] ¥f5MEA
134,775 A1 B 134,648 134,775 (127) (0.09)
0 L3P SN 0 5,000 (5,000)|  (100.00)
%4
EHRALER
26,080 BohiEe G A 29,183 26,000 3,183 12.24
3,026,029 EHE 607,036| 1,111,400 | (504,364) (45.38)
¥%NER
706,237 AEE 241,806 757,050|  (515,244) (68.06)
23,889 NG 25,824 50,200  (24,376) (48.56)
49,840 HEFHP I H 6,200 22,000  (15,800) (71.82)
O|lFr4F# & A (F]132) 0 0 0 0.00
504,400 | A H7 B AR (S5 4h) (85,101) 23,125| (108,226) 59
- * (]
e VAR A e————— .\'--.?-_.,l._-.l

hitidd

WEAH 1084128318




SERHTHEEABLRERARRERAXIHLLE)

BEEERX
T 2R HE1085128318 B e
Eb 2 3% (R -)
ANERE LEE
#(E)B 44 : o
REH () | RERC > 0
2 FRQ) B)=(1)-2) (4)=(3)/(2)*100

- 3

B4 RABITHRR 4,487,464 | 4,572,565 504,400 11.03
EHELREHEE 0 0 0 0.00
A4 10,500,000 | 10,500,000 0 0.00
AL A 2,352,073 | 2,352,073 0 0.00
T E A 17,339,537 | 17,424,638 -85,101 (0.49)
& 17

ik B-Ri 0 0 0 0.00
E ¥ Ak 0 0 0 0.00
& 15 a3t 0 0 0 0.00
% {4

P Y] 0 0 0 0.00
INFE 0 0 0.00
EE At 0 0 0 0.00
B E RS EAEH 17,339,537 | 17,424,638 (85,101) (0.49)

S aE i) WRFIE 45 5 R
¥ [REiia ] wny BEEREA ggp




2B E M EEAB L R A ERAXHLEE)

Bt &
BB 1084 12A31 B
" W - 43R N
FE 5 A% | B4 | #E (3 5% ) f#3x
48k BAE |ReEHF| & 5 10,500,000
AR |3t 10,500,000
BE |ReEZHF| K | 2 2,352,073
ke | ma |TREE L 156,225
S M P A 2R
w2 A |BRITHHR| £ 3 4,321,025
BE |BRERSE| £ 1 10,214
/NEE 6,839,537
43 17,339,537

#¥: el asE: pReR  E#¥R: 0L




SERHEFTHEAEIABILE RABRRERAIHESLE)
ReREXR

¥ 3 RE1085 &

S #E T

I8 B

rEE
N
(1

AER
REH
@)

Po 838 (k)

£
(3)=(1-(2)

%
(4)=(3)/(2)%100

EHEHZIRAENE
AT Rk AR (4 dh)

A BB Z

KA BBA A AT AR (42 4h)
IR ALIE R

% R4

¥HFHZIFRLAN CRE)
REFTHZHRLARE

WV R ERRE A

R EHEREHERE

YK EE ~ B RR

RO EHEE

BEEGZIFRLRN CRE)
ETFHZRLAE

¥ EH R AE
Wik EMR

3o 4 B TR
REELEGHZHLAN

EFTFHFRARAN ORE)

RERHEREZFHOFR)
MR RAERE
MAALRAERE

(85,101)
134,648
(219, 749)

(85,101)

(85,101)
4,572, 565
4, 487, 464

(203, 000)
134,775

(337, 775)

(203, 000)

(203, 000)
4,068, 165
4, 091, 290

117, 899
(127)
118, 026

117, 899

117, 899
504, 400
396, 174

-08. 08
-0. 09
-34. 94

-08. 08

W&k 108412A318




SEAMKFTHEFARLERABAERAIHELEST)

FHEEEH K
b ERAL08ER Boc MEET
: EX Y AR AERE s
AG#) 8 - mamm |
s | A
oYy
Bl K 4 10,500,000 10,500,000
LA A(REBLSL) 2,352,073 2,352,073
A
455 AR
Y 4,572, 565 85 101 | 4,487, 464
B fEsash
FEAEM4IAR
o e A
P 17, 424, 638 85 101 | 17,339, 537
B ——— an¥: [AEFEAR $EE (el
# FIThEY J l%ﬁhlﬂul

WxkaH108412H318




SRR T M EAB S RPABERERA XA S E)
108 4 B T4 %

THg | RAT & H % 8 3
g | (R 7 B B P L Ty AANE K %
P9
4 RE T
5 B4 108401 A1 BE | B£#H oeg B | o
Py 130 | 08 P ;1%;9;1;4; No.861-868 %] | % % A#L 8 A
108 02 A 22 &8 S it Bk ATERBIT | o
*H 3600 | 1os 20 R258 | B |3 &AM A
BEF | BHBRBOESRRM | 28 A 1,100 A
g H AL ﬂz%%ﬁ%@%ﬁﬂ&
e 20,123 |18 F0SAIT B | gap | g sia i 2 n it
E/Jlﬁ?f]%&\:ﬁ:’ ©
%7}% 5,306 108 _q:_ 06 H 15 E ﬁ‘i%"‘ Tﬁﬁf%iifﬁﬂj*ii%ﬁ: Fiﬁkﬁi 63 A
BA% 67—7—
Hoh BB RAEASE SHEAKI2UA
; vg,’%/a\%% NEH HBED
% 5 3060 108206 5178 |0 | o s nnnsmen
15 5 BAE |7
TEE
% 85 B RAL | BB BEESRE | SEA 1,200 #

o 6,000 1084 11 A 18 B | # A% %#1M+m§ b B) %
o )2 A

Mo
I
>.
o
\O
>.

BRR | BE2019 REABRBE R
EXA %%iﬁ%éﬁﬂ%ﬂ‘@-i&i&

¥% 27,000 | 108 410 A 4 8 R ﬁ%;&ﬁﬂ-é(mb & oo &
& AEFH-EARAERT
e #H)
R REE 3 AH 65 A

1 EF2AKLL & 1S
% 180,000 7T
2&[!:%&#&5%*‘%@ D14
» 3+ 114,000 7T
3%5# s T 1 &
BxF |4 £7% 42,000 1
RAH 41:&&%%[‘&/&75%
A% 240312 % 0 120,000
e
SRR KRy aits
4 313 % > 75,000 7
6%4!3;&1%1;:47\ 3
#4032 £ 0 40,000

108401 A1 BZE

*7 STLO00 | 108 = 12 B 31 8

LEA e | ¥ l@gﬁg 0




